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The correct answer, unless clearly obtained by an incorrect method, should be taken to imply a correct method.
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Mark
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0,02 %40 000 (=800) or
1.02 % 40000

(=40800) or 2400
40800 % 0.02
"41616" % 0.
OR

244832

16) and
3232)

24832

A01

M1

M1

Al

(dep) method to find interest for year
2and year 3
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|Question| Working |Answer [Mark Notes

@ M1 For finding 7.5% of 15000 or
for a complete method to increase

7
Eg ﬁ><15000 or 0.075 x 150000¢|
15000 by 7.5% (eg 1.075 x 15000)|

or 1125 or
0.075 x 15000 + 15000 or

15000%1.075 oe 16125

Y

Al cao
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|Question| ‘Working [Answer [Mark] Notes

() M2 Fora complete method
Eg 222 108 0r 22 x 108 or 22500
N 1800 a8

¥ 1.08 or "+ 1800 or M1 for 8% = 1800 or 0.08x
1299 4 100 + 1800 or 225 x 100 +1800 = 1800 0or

0 1800
or 22500 +1800 g or2sor

1800

== or 22500 or
008

24300 3 |A1 0 @

Total 5 marks
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Questio Working Answer | Mark Notes
Number|

Total 4 marks
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Working

Answer

Mark

Notes

milion) {00

million)

Ml

Al

Accept238-23.9

% x1028(million)or 180.(928) (million)

25 x1028(million) + 1028 (million)

1209

MT

M1

A1

M2 for 1028 (million) *
1176 0e

Accept 1208 - 1200

543

M

A1

« ) rounded.
or truncated to at least 3SF
or
1876 or (100 + 87.6)% )
or 187.6%)
or 187.6% = 1028 (million)
or
or 1.876x=1028
(million) oe or

1976
2 0e
00

7028 Gaalliom)
awrt 548

Total 8 marks
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Question, Working Answer | Mark Notes
@ TAIx 1000 MI
219 2 |Al 1875 acceptawntto219

® ¥100x 32 (=128) MI M2 for 32 % 104 oe or 32000000 % 104 o=

or 4/100 x 32000000 (=1280000)

32-128" 3 M @ep)

or 32000000 + “1280000") Al (3328) accent 333. 33000000, 33300000,

3| 3 33260000

Total S marks
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[Question| Working Answer | Mark Notes
@ [2x0]+12x1+15x2 ML (2 x 0) may be omitted:
+8x3+2x5+1x8 allow one error
(=84)or
[0]+12+30+24+10+ 3
8
“847+ 40 MI dep
NB: Products do not have to
be evaluated
21 Al
® 1100 oe 5 | Mtatow 22x1000r 2100
40 ’ 40 40
35 Al

Total 5 marks
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Question ‘Working Answer | Mark Notes
@ 1333 3 | Ml Difference for two given years

1333-873ards0r 22 <100)

[EEEE T for difference divided by 873 o8

573

46

26 100

e x100) or

1333

2221|100y or
[ 573 }( )

0.527

527 Al for answer rounding to 52.7
® | 12x-1333 o 120%x=1333 3 [ Ml alsoallow 120%= 1333 o
1333 1333_
or —— 2or 1L
0 "
M1
221333 133,000 o
2 120
1111 Al for answer rounding to 111.1

Total 6 marks
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Question

Working Answer |Mark |Notes
number
o
S 2 Mt for % or0.476.
1639 100
340
776 AT Torans rounding 0476
©) 1350 30, 100 3 [ g 20 o
376 376 1376
. 3440 2% oe
576
M1 for 240 o 137.6%
376
=3440
or 340 _ 4 376 0r 3440
*
1376x
or25 seen
2500 AT o

Total 5 marks
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Q[ Working Answer [ Mark Notes

45/625 % 100 M1
72] 2 |a1

M
or M2 ford5 x 1.08
486(0)| 3 | Midep

Al
il 625640
Ml dep 976.. or
25 or 24 3 |A1 0.977)
1(=0024) |1-"0.976
(=0.0234)
=118 0r M2
(@ | 18+133 dp 1173 or 18+12 (=15)
or better) or 18 35| 3
=80 x 60 or 18+ 1.3 (13.8.) or 18+ 80 (=0.225)
Al cao

Total 11 marks
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Working | Answer | Mark Notes
6
377100 | 1875 2 M1 Allow "32" from evidence of
& adding frequencies
A1 Accept 19 if the correct method
or 18.75 seen
(®) [ (7x10)+(16 M1 fx X for 3 products with *
X30)+(3x5 used consistently within interval (incl.
0)+(6x70) end points) & intention to add
SR— i(dep) use of correct hlf way
+ 150 + 2
o 1120
32 implies M2,
1120 3 AL cao
Total 5 marks
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Question Working Answer | Mark Notes
Number
(@) 8 z
So0 L ieslon e | M2 for 475 x 1.08 oe
437
A5 M (de
P
3 AT cao
b ERERCH
o) 1% 4; or6 M2 for %gxmn or 600 or
8% (of amount) = 48 4
“6"x 100 or 600 M1 | o8
or 8,108 or 5 4108
B 008
EQ AT [0

(NB: An answer of 600
scores M2A0)

Total 6 marks
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‘Question. ‘Working Answer ‘Notes
@ | Lersoe art M1
M2 for 675 x 1.12
75 81 ) = =
756 Al cao
® | 23% of amount = 2162 M1 e
2162 M2 for = %100 oe
or (1%=) 712 or94seen 23
“94” x 100 or 9400 or “94” x 77 M1
7238 Al o
© | 40 MI [ foreg OR
e x150008 or60 | o e o
10071590 | 1500 x06°
100
1500 % 0.6’ or 600 (M1 for
1500 % 0.6
Ml | fe leting
49, 1500-1600) P | o 900
0 1s00x06°
’4?" or 540
29 as0000-364) or 1500 % 069
=216 “Accept (1- 0.4) as equivalent fo
15006007360~ 06
216"
324 Al cao

Total 9 marks
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Question Answer | Mark Notes
@ MI M2 for 0.85 x 270 o or
(1-0.15) x 270 0e
Mi dep
22950 3 | Al accept229.5
® MI MI for M2 for
135+3(=45) | 135+
015
(=5%)
"0.9" x 100 (=90) or M1 dep | Ml for4.5%20
66..." x 13.5(0)
90| 3 |A1
Total 6 marks
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Working Answer | Mark Notes
1 T4 3| MI | Altemative method
725 %55 (assigns values to
7 distance and average
0.800), 190 g0 speed)
5
d M1 for calculating both
“dr029s times comrectly
M1 (dep) for finding
Mon time - Tues time:
Montime
1-080eegl— 4, M1
100%—80%
20 Al o

Total 3 marks
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Working ‘Answer | Mark Notes
15/100 x 640 (=36) ML
640 - 96" M1 dep or M2for640 x
sa| 3 |08s
A

Total 3 marks
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Question

Working  |Answer |Mark |Notes
number
2%

Ll 3| ae Mifor1zor® ortazor
10 R 100 400
100 100

1404 0e

or 1404

704 AT Also award For 40T M2 scored

Total3 marks
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Question Working Answer | Mark | A0 Notes
‘Workine with all 12 boses forcormet otal costor corect total
12715 (=180) or 12 % 12 (=144) so1 |  mumberof melons
M (cither may appear as part of another
calculation)
12x12% 2 x160e(=1728) wp  Dorrevenue fomall full price
r melons sold
12515 x 115 o6 (<207) o ML fortotal reveme o tofal profi
180 0.15 0e (<27)
2R ML Ml depond3
36
178)
005 | s Alcao
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5 or 12x 2 (=
Yor12x (=)

123 x 1606144
3 oe (=144)

15 % 115(=1725)
70501447 285
3 3

M1

M1

M1

M1

Al cao

for price of 1 melon or mumber of
full price melons

for revenue from all full price
melons sold

for total revenue from one box

dep onM3
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Working Answer | Mark Notes
6000+ (2+3 +7) x 7 (=3500) M1
or
6000+ (2+3 +7) x 2 (=1000)
3 M1
e
(6000 3 M
3500” (=3100) or
1000 + 2100
31007 oo ML depon
6000 previous
M1
52 5 Al Accept
51.6-52
Total 5

marks
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Question Working Answer | Mark Notes
Working with all 12 boxes
12 80)or 12 12 M1 for correct toal cost or correct
total number of drinks (cither may
appear as part of another calculation)
3 M1 for revenue from all full price
2x12x2x1.5 oe (=162
12x12x %15 oc (=16) ks sl
12x15%1.15 0e (=207) or M for total revenue or total profit
180 x 0.15 o (=27)
"207"-"162" MI dep on M3
= oo
36 36
2704018001627
36
1255 Al cao
Total 5 marks
‘Alternative — working with
one box M1 for price of 1 drink or mumber
15+ 12125 or 12X 329) of full price drinks
3
3 M1 for revenue from all full price
2x3x15 oe (=135
1257715 0c (<135) ks sl
15x1.15(=17.25) M for total revenue from one box
1725135 375 MI dep on M3
3 3
1255 Al cao

Total 5 marks
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Question ‘Working Answer | Mark Notes
2 3 |ML
® 2, 300r0.12 x300r36 M2 for 22 %300
@ 00 100
088 x 30
Mdep
2640) Al
© 2 or 2 x1000e 3| M2 Mifor 2 or9=12
0.12 12 12
75

Al (NB:if75=9 caleulated,
M2 only)

Total 6 marks
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Question Answer | Mark | A0 Notes
a01 | M1 M2for225+015
15" % 100 (=150) or
66, x Ml dep
25(0)
150 3 Al
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Question Working Answer | Mark Notes
(@) |15960+5.7 < 46 M1
2
12880 Al
() 7 MI | M2for M2 for
15960 x 755 °¢ 0925557 || oo 925
(=1197) 3 (=5.27025)) | 77 g
AND 0
o7 >
15960 —~119 M1 7 15960
(dep)
14763 Al
NB: Accept 12880 or ans to (a) in place of 15960 for both method marks

Total 5 marks
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Working Answer | Mark Notes
0.025 40 000 (=1000) or’ 3 |M1 M2 for 40000 x
1.025 x 40 000 (=41000) 1.025°
or 3000
"41000"%0.025(=1025) M1 (dep)
and method to
"42025"x0.025(=1050.625) find interest
OR for year 2
and year 3

3075.62 or 3075.625 or
3075.63

43075.63 Al accept 43075.62 or 43075.625

NB. An answer of 3075.62 or
3075.625 or 3075.63 score M2A0

Total 3 marks.
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[Question] ‘Working Answer | Marks Comments
Mi For 28
16 100
eg — x65000 0e
10 65000 X63000 (M2 for
or 10400 | oe 5
x 0.84 or10400 | 65000x0384)
or (M1 for
65000x0.84
or 54600
or 65000x0.84%
or 45864
or 65000x0.84*
G T or32361.63.)
00" ; completing
(65000 - “10400”) Method
=8736
16
—x
100
(65000 - <10400”
“8736”)
=733824
65000 —“10400” —
“8736™- “7338.24']
Accept (1-0.16) as
cquivalent to 0.84 throughout
SC: If no other marks
gained, award M1 for 65000
x 0.48 oe (=31200) or 65000
x 0.52 oe (=33800)
[38525.76] Al for 38525 - 38526

Total 3 marks
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@18 e M M2 for 22x28
100 100
28-"224" M1 dep

25.76 Al

O3 300 e M2 M for 2 or0375 0r3=8%

008 8 B
37.50 Al Accept 375

Total 6 marks
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Q Working Answer | Mark Notes
@ |08 x4850ra85-02 M2 Fora complete method
485 0r 485 — 97" oe Ifnot M2 then:
MI for 0.2 x 485 0r 97 e
388 3 Al cao
® [, 7 M2 Fora complete method
02 20 % 100 or Ifnot M2 then:
395%1000r79 % 5
oe MI For 20%=79 or
0.2x=79 or
7
20 or395er
x _100
E
395 Al
3 cao
ScB2 for 316

Total 6 marks
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Question ‘Working Answer | Mark [ Notes

@ | 1674-155(=124) MI 1674+155 (= 1.08) | 1674~ 155 (= L0§)
“12.47+155 (= 0.08) M1 dep |"108"-1(=008) | "1.08"x 100 (=108)
8 Al co

3| 1fbuild up approach used, award M2A1 for correct
answer, _otherwise MOAO.

® T3 10000 M2
1045 1254 .
M for 252 (=12)0r 104.5%= 1254
1045

254 0e or 1.2 seenor 5.4

If build up approach used, award M2A1 for correct
answer, otherwise MOAQ.

Tofal 6 marks
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Question ‘Working Ans| Mark
@ |153-125 or 28 1224)
<287+ 125 (= 0.224) %100 (= 122.4)
3
n4 Al cao
© 1220100 0r 22 oe .
a5 ’
= or 0.85x=153 0e
180 Al

Total 6 marks
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Question ‘Working Answer | Mark Notes
Number
0] 15 ERRIY M2 for
GO B 00 oraa o
L) x280
280 — 42" M1 dep 100
738 AL cao
G) | 24 10 3 M2 for or 24x %
or 24x=2 5 15
055 15
M1 for
160 AL cao
® [2+30r5 3| M1 5 may be denominator of @
fraction or coefficient in an
equation such as
5x=320
or 320 + 5" or 64 or M1 dep
48 AL Also award for 126 192 448

Total 9 marks.
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M1

Ml

1200

Al

Total 3 marks
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Ques Working Answer | Mark Notes
a (15,100 0e 2 MIFully correct method
7 to find %
83
Al__833 or better
b [54.99 % 552 (=303.(54 ) o 3 MI
343 5.5 (=62.(137..))
3437 (54.99 x 5.52 J=39.(45.)) or M
(343 5.52) - 54.99 (=7.(14...))
39 AT (also accept answers
in range 39.45 to
39.5)
B ) 3 BI
Th24min=74h (m% oc or 444
(mins) or 26640 (secs)
5522 55 552 use of 4, allow
o a0 266407360 Ml 5522
724
746 Al 746-74622

Total 8 marks
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‘Has enough
(with evidence)

MI for splitting the shape (or
showing recognition of the “absent”
triangles) and using a method to

find the area of one shape

M1 for a complete method to find

the total area, (=9 m?)

M1 (dep on M1) for a method to

find the number of packs required

from their total area, eg. "9" + 2 =

4.5 rounded up to 5

M1 for a method to find 75% of

24.80 or 75% of the cost of their

total number of packs, eg. 24.80 X

P 7
57X 1o (=93) 0r24.80 X 1

18.6)

C1 for a conclusion supported by

fully correct answers, eg. showing

9 (m?), 5 (packs) and 93 or 7 (from

100-93)

OR

M1 for method to find 75% of
£2480,eg 2480 X 15 (=18.6)
M1 for method to find total number
of packs Mary can buy,

eg 100 = "18.60" = 5.3.... truncated
to 5 or 10 (m?)

M1 for finding area of one relevant
shape or showing how one pack (2
) can fit in the diagram

M1 (dep on previous M1) for
complete method to show that 5
‘packs can cover the floor

C1 for a conclusion supported by
fully correct answers, showing the
capacity (10) greater than total area
©





image39.jpeg
24

M1 40 = 100 x 60 o or any
complete method,

€9 10%=6,6x4

Al cao

SC B1 for 36 or 84





image40.jpeg
648-593 . 8.49 3 |M1648-503(=55)
Gig 00 (8487 M1 (dep) 55/44,6x100 0&
A18.48-8.49
oR
OR
$934,5x100 = 01512
M1 593, 4x100 o€ (=
100 -'91.512 =8.487...) 91.5(12..))
M1 (dep) 100 —'91.5'
A18.48-8.49

OR
M1 893, 5 (=0.915(12...))

M1 (dep) 100 x (1 - '0.915)
A18.48 - 849





image41.jpeg
42

M1 for correct method to find 20% of 35

(=7)

M1 for correct method to increase 35 by
20%

Al cao
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120

M1 for 80% =480 or +22(=6) or

380, 100 (= 600) 0e
80

M1 for 600-480 or 2220 ce

Al cao
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Question|  Working Answer [Mark| Notes
B Sher  Yas | Corect | 3 | MI for acorrect method to calculate the population at the
01d 19300 12560( comparison beginning of the 10 year period for at least one place.
[New 20265 13502 | (supported) 2026 13502 .,
e 965 o4 Toe (C19300) ocor T2 (<12560) 00

Al for 965 (Sherbury) and 942(Yaston)
C1 (dep on M1) ft for statement comparing increases leading
to conclusion based on two comparable amouats eg increase
in Sherbury is greater than increase in Yaston
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@

®)@)

)

1560000 = (1.052)

1730000 | P1

2020

P1

Al

P1

Al

C1

for process to find population in 2016
for complete process to find
population in 2017

for 1725000 - 1730000

for process to find when population
will exceed 2 000 000
for 2020

for correct comment on how
assumption will affect the answer. eg
if the percentage growth is higher the
population may exceed 2 000 000
carlier.
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132 3| Ml for0.15 * 520 (=78) or 0.15 * 360 (=54) or for 520 + 360 (=880)
M1 (dep) for 78" + 54" or for 0.15 x 880"
Alcao
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125 3 | M1100-12(=88) or0.88 or 1.1+ 88 (=0.0125)
M1 for complete method, eg 1.1+ 0.88
Al cao
(SC B2 for 1250 as answer)
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62
M1 for 2=x100 (=77.5)
30

Al for 77.5% or 78%

B1 ft (dep on M1) for Merit

OR

M1 for calculating a percentage between 70 and
85% of 80

eg.0.7x80 (=56) or 0.84 x 80 (=67.2) or 0.85 x 80
(=68)

Al for 56 and 67(.2) or 68 or for two appropriate
values which can be compared with 62

B1 ft (dep on M1) for Merit
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ue | M fors0% or 08 seemoe or g
Mi for %2 464
Alcao
oR
M1 for 80% or 0.8 seen o
M1 for 464 - 4 or 464 = (8020)
Alcwo

-580)
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@ No with reason | C1

C1

®) 315 Pl

P1

Al

‘partial explanation, eg 0.96
0.975

No with full explanation, eg
0.96 % 0.975 =0.936 so only a
6.4% reduction

complete process to find value
after 2 years eg (145000 —
5800°) x 2.5/100 oe or 145000
*0.96 x 0.975 (= 135720)
(140000 - *135720) +
#135720° < 100 oe
for3.15-3.154
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No with reason | C1

c1

Starts to formulate reason eg. No with
partial explanation or
0.8 0.7 or starts to use figures

No with full explanation eg. 0.8 x 0.7 =
0.56 50 only 44% reduction
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£5242.88 P | 3.1d | P1 foracorrect first step in
the process.
<.g. 5000 x 0.03 (= 150) or 3
*x08=24%
P | 3.1d | Pl fora correct process in

finding the effect of the 20%
tax on interest (i.e. "150").
e.g. "150" 0.8 (= 120) or
5000 x 1.024

P | 3.1d | P1 (dependent on previous P
‘marks) for a fully complete
and correct process to find
balance after 2 years,

e.g. (5000 + "120") + (5000 +
"120") % 0,03 * 0.8 or 5000 x
(1.024)

A 1.3b | Al cao
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@ 209.69 or 3 33
209.70 Mifor 200 5 oe 0r200 X 1033 o 6.60)

or 206.6(0)
M1 (dep) for (200 +6.67) x % o6 or 200

1.033 x 1.015 oe or 3.099 or 3.09 or 3.10 0r an
answer between 209.69 and 209.7
Al for 209.69 or 209.7(0)

® Comparison | 3| M for method to find cost of tickets before
o T T PR increase eg 22 (2200) o or 2 x12.5
15 s
New 225 535.50 535.50
31050 oc or pay before increase, 2
Diff 25 2550 50p 1.05
Al for 25 (train) and 25.5(0) (pay) or 310 and
310.5(0)
€1 (dep on M) f for statement compariag rises
Teading to conclusion based on fwo comparable
aumounts eg pay increase greater than train
increase

10) 0e
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2x462+251
=1175,

09551175
=£111625

2x485+218
=1188,
118875
111300

Jetstream

M1 for identifying corect costs for either Highway Airlines or
Jetstream Airlines

Ml for attempt to calculate the costs for the family

g 2X7462"+7251” or 2X"4857+7218”

M1 for a corect method to work out the discount for one company
€g0.95 x “1175” or 0.05 X “1175” or “1188"~ 75 0¢

AL for (6)1116.25 and (91113.00

C1 (dep on M1) calculations clearly ideatified with each airline:
and comect decision from their figures
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10000 x0.8
8000 x 0.9 = 7200

OR
10 000 — 200 x 10 000 =
8000

8000 — 1%g x 8 000

OR
10000 x 0.8 x 0.9

M1 for 10 000 0.8 (= 8000)
M1 (dep) for "8000" x 0.9 (=
7200)

A1 for £7200 cao

OR

M1 for 10 000 — 249 x 10 000
oe

M1 (dep) for "8000" — %o x "8
000" 0e

A17200 cao

OR

M1 for 0.6 x 0.9 (=0.72)

M1 (dep)for 10 000 x "0.72"

A for 7200 cao

[SC: B1 for an answer of 7000 if
MO scored]
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for process to find the area of one

shape, eg. 1916 (= 304) or T X
01.06...)

for process to find the shaded

arca, eg. "304" - "201.06" 2 (=

203.46..)

for a complete process to find
20246

304

required percentage. eg.
100
for answer in range 66 to 68





image56.jpeg
N 1.025° =1.050625 | Bonus Saver
1.04x1.015 with correct
=1.0556 comparable

values

MI for a method to calculate 4% or 2.5% of 20000
(=800 0r 20800 0r 500 or 20500)

M1 for a methodto calculate using 2 compound
interestmethod, eg 1.0252 oe or 1.04 followed by
1.015 e

Al for 1.050625 or 1.0556 or 10556 or 556 or 21112
or2101250r11120r 1012.5

C1 fora comrect decision n a statement with two
comect comparable values.

NB all final money values can be rounded or
truncated to nearest integer or left unrounded.
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Working

Answer

Mark

Notes

MI for an attempt to evaluate 2800 x 1.025" for at least

one value of n (with > 1)

or 3000
2800

OR finding at least two correct interest payments (ic 70

and 71.75)

Alcao

(=1.0714..) and 1.025" evaluated (n>1)
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Northuay Bank: Portland Bankwith | 4 | M1 for a correct method to calculate 3.8%
6000 x 0.038 values or 5% of 6000
228 M1 for a correct method to calculate
6000 + 228 = 6228 using a compound interest method, eg
6228 x 0.038 = 1.0382 oe or 1.05 followed by 1.032 e
236,664 A1 for 1.077444 or 1.0836 or for
6228 +236.664 6464.66(4) or 464.66(4) or for 6501.6(0)
=6464.664 or 501.6(0)

C1 for a correct decision in a statement
Portland Bank: with two correct comparable values e.g
6000 x 0.05 = 300 for 7.7(444)% and 8.36
6000 + 300 = 6300 %, or for 6464 66(4) and 6501 6(0), or
6300 x 0.032 for 464 66(4) and 501 6(0)
2016
6300 + 2016 NB all final money values can be rounded
=65016 or truncated to nearest integer or left

unrounded
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11264
27500 (=
0.4096)
0.87=0.4096

11264
M1 for 27500 (=0.4096)
and 0.8 evaluated forn=2
OR

attempt to evaluate 27500 x 0.8" for at least
one value of 7 (not equal to 1)

OR

finding at least 2 deductions, ie 2 of 5500,
4400, 3520

Al for 4 cao





image60.jpeg
M1 for a correct method to calculate 77% of 15000 or 0.7

seen
eg. 15000  0.77 oe (= 11550)

or 15000 -5 x 15000 oe (= 15000 - 3450 = 11550)

M1 for demonstrating a correct compound interest method.
over 3 years

eg “11550"  0.82 (=9471) and “9471" x 0.82 (=7766.22)
or “11550"x 0.82° or 077 x 082! (=0517748)

Al for 7766(22) or 0.51(7748) or 0.48(2252)

C1 t (dep on M) for a statement giving the correct decision
for their calculated values
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1200% 0.8¢ 4 3 [ M10.8or 960 or 2160 seen
M1 for 0.8" where n is 2 or greater or for
768 or 614.40
A1 cao and supported by working
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2700

M1 for a correct method to find 25% of 4800 (= 1200)
M1 for a fully complete and correct method to find the
value of the car at the end of 2015

Alcao
OR

M2 for 4800 x (0.75F
Alcao
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Question

Working

Answer| Mark

Notes

67100 % 7500 (=450) (st Year)

une| 3

MI M2 for 1.06' x 7500 (=8932.62)

M1 Calculating 6% of previous capital for another 2 years

Al MIAO for 1350 or 8850

Total 3 marks
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Shows sales
target

"MI for 2150~ 1500 (= 650)
M1 for “650"/1500 100 (=
433.)

Alford33(.)%

OR

M1 for 0.4 x 1500 (=600) oe
M1 for 1500+ 600" (=2100)
Al for2100

OR

M1 for2150+1500(=1.433..)
M1 for (*1.433.7~ 1) 100
Alford33(.)%
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Question ‘Working Answer | Mark Notes.
8000 * 1.045 0c ML or8000 x 10275 | M2 for
a | (=8360) (=8678.316375) | 8000 x 1.045 x
8360 * 1.0275° Ml 8678316375" x| 10275
oe 1.045
906884 3 [Al accept 9069 and
answers in the range 9068.8(0) —
9068.9(0)
SC: BI for an answer of 9020 (8000 +
360 + 3x220)
D T+0.02 (=1.02) il M for 100%) + 2(%) (=
102(%))
5763+ 102" oe Ml dep MI (dep) for 57637102
%100 0e
5630 3 | Al
Total 6 marks
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Q Working Answer Mark Notes
@] 12 3 ML orM2 for 45  0.88 oc g
100 BED 45 x(1-0.12)

(NB45 x(1-129%) scores
zero unless accompanied
by a correct answer)

45-1540 MI  Dep on correct method for

12%

39.6(0) Al
) | 546525 (=21) 3 MI 3465505
2 o M1 Dep (('L04"~ 1)x100) or
o2r, ,
s 546/525 x 100 - 100
4 Al

Total 6 marks
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